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QUESTION 1

Which Check Point product implements a Consolidation Policy? 

A. Smart Reporter 

B. Smart ViewMonitor 

C. SmartLSM 

D. Smart ViewTracker 

Correct Answer: A 

 

QUESTION 2

Which three of the following are ClusterXL member requirements? 

1) same operating systems 

2) same Check Point version 

3) same appliance model 

4) same policy 

A. 1, 2, and 4 

B. 1, 2, and 3 

C. 1, 3, and 4 

D. 2, 3, and 4 

Correct Answer: A 

 

QUESTION 3

State Synchronization is enabled on both members in a cluster, and the Security Policy is successfully installed. No
protocols or services have been unselected for selective sync. Review the fw tab -t connections -s output from both
members. 
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Is State Synchronization working properly between the two members? 

A. Members A and B are not synchronized, because #VALS in the connections table are not close. 

B. Members A and B are not synchronized, because #PEAK for both members is not close in the connections table. 

C. Members A and B are synchronized, because #SLINKS are identical in the connections table. 

D. Members A and B are synchronized, because ID for both members is identical in the connections table. 

Correct Answer: A 

 

QUESTION 4

Fill in the blank. In Load Sharing Unicast mode, the internal cluster IP address is 10.4.8.3. The internal interfaces on two
members are 10.4.8.1 and 10.4.8.2. Internal host 10.4.8.108 Pings 10.4.8.3, and receives replies. The following is the
ARP table from the internal Windows host 10.4.8.108. 

Review the exhibit and type the IP address of the member serving as the pivot machine in the space below. 

A. 10.4.8.2 

B. 

C. 

D. 

Correct Answer: A 
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QUESTION 5

To back up all events stored in theSmart EventServer, you should back up the contents of which folder(s)? 

A. $RTDIR/distrib 

B. $RTDIR/distrib_db and $FWDIR/events 

C. $RTDIR/distrib and $RTDIR/events_db 

D. $RTDIR/events_db 

Correct Answer: C 
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